U R AR S |

A / H / / / / / / /
x %
HITHHRE 2 2 % 2 ) % 23
REHEE % % 5 15 5 # %5
ped =
(FRRY)
H / H / / / / / / /
x %
s # 5 & 5 5 5 # %
HITHFRE % % 2 % % 5 %
RETHE 5 % 5 # 5 5 5
X E
(AR YY)
A / H / / / / / / /
x %
HITHHRE 2 2 % % ) % )
A =
(R Y)
H / H / / / / / / /
x %
s # 5 % 5 % % # %
HITHERE 5 % 2 % % 5 2
REHHE 5 % 5 # 5 5 5
Pl t
(AR )
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@ EHENOY—DFEAE

TIXILF—HEE (keal) =1.05 x 48 (kg) x EENHGR (F:R) x 4.8 (X vY) l

XOEBIEIE, 20 DBIFIE 1031 30 BT T05] tad, %4.8 XYI3, BETR THEERDA v/ (METs) &J &Y &
BR/ T EBHREDRRE (75~85m/9) THWIHE3.54yY 5 (100m/D) THW 1356484y p——

E A 8 ~ & A 8
B / H / / / / /
x %
S| ) 2 % 2 % % )
X iE
(&R Y)
H / H / / / / /
x %
TSR % % % 5 % % %
REHEE # % s 5 22 % &
X E
(A1)
B / H / / / / /
x %
S| ) 2 % 2 ) % )
M s 2 5 & e & 2
X iE
(&R Y)
H / H / / / / /
x %
HITHERE % % % 5 % ) %
REHEEL 5 # # % 5 & %
X E
(A7)
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